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Section	
  1	
  	
  (For	
  exemption	
  from	
  Foundation	
  Level)	
  
	
  
Complete	
  the	
  sentences	
  using	
  one	
  word.	
  	
  
	
  
Example:	
  ________	
  Are	
  _______	
  they	
  from	
  Switzerland?	
  	
  
	
  
1)	
  Vladimir	
  Putin	
  _______________	
  63	
  years	
  old.	
  
	
  
2)	
  What	
  _______________	
  you	
  do	
  yesterday?	
  
	
  
3)	
  _______________	
  those	
  guys	
  students	
  or	
  teachers?	
  
	
  
4)	
  I	
  _______________	
  never	
  been	
  to	
  India.	
  	
  	
  
	
  
5)	
  Mehmet	
  _______________	
  a	
  new	
  car	
  yesterday.	
  
	
  
6)	
  We	
  are	
  _______________	
  Australian.	
  We’re	
  South	
  African.	
  	
  
	
  
7)	
  I	
  _______________	
  start	
  faculty	
  classes	
  next	
  week.	
  	
  
	
  
8)	
  Yakup	
  _______________	
  cats,	
  but	
  doesn’t	
  like	
  dogs.	
  
	
  
9)	
  _______________	
  Yasemin	
  have	
  any	
  children?	
  	
  
	
  
10)	
  I’m	
  taller	
  _______________	
  my	
  sister.	
  	
  
	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  
Section	
  2	
  	
  
	
  

Rewrite	
  the	
  following	
  sentences	
  as	
  a	
  single	
  sentence	
  (with	
  the	
  same	
  meaning)	
  using	
  the	
  word(s)	
  in	
  brackets.	
   	
  

	
  

1) Health	
  care	
  is	
  improving.	
  Consequently,	
  life	
  expectancy	
  is	
  increasing.	
  (because)	
  

	
  	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

2) Mark	
  married	
  Princess	
  Martha,	
  whose	
  sister	
  is	
  the	
  Queen.	
  (who)	
  	
  

	
  	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

3) It	
  was	
  snowing	
  but	
  we	
  didn’t	
  wear	
  jackets.	
  (despite)	
  	
  

	
  	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

4) The	
  physics	
  exam	
  was	
  very	
  easy.	
  90%	
  of	
  the	
  class	
  passed.	
  (so	
  …	
  that)	
  	
  

	
  	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

5) Do	
  not	
  leave	
  after	
  0730	
  if	
  you	
  do	
  not	
  want	
  to	
  risk	
  getting	
  caught	
  in	
  the	
  traffic.	
  (unless)	
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Section	
  3	
  
	
  

Paraphrase	
  each	
  of	
  these	
  extracts	
  by	
  changing	
  voice	
  –either	
  from	
  active	
  to	
  passive	
  OR	
  from	
  passive	
  to	
  active.	
  
Change	
  ALL	
  the	
  verbs	
  which	
  are	
  possible	
  to	
  change.	
  Make	
  any	
  other	
  necessary	
  changes.	
   [2	
  points	
  each]	
  

a.	
  Borys:	
  “A	
  car-­‐bomb	
  killed	
  a	
  colonel	
  in	
  Ukraine’s	
  military	
  intelligence.”	
  

Borys	
  reports	
  that	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

b.	
  Borys:	
  “A	
  cybersecurity	
  expert	
  was	
  rushing	
  the	
  news	
  to	
  the	
  head	
  of	
  the	
  NSDC.”	
  

Borys	
  reports	
  that	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

c.	
  Borys:	
  “The	
  command	
  to	
  run	
  the	
  response	
  protocol	
  approved	
  by	
  the	
  Coordination	
  Center	
  f	
  was	
  given	
  by	
  
Turchynov.”	
  

Borys	
  reports	
  that	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

Section	
  4	
  
Reporting	
  ideas,	
  discoveries	
  and	
  questions	
  
	
  

Use	
  combinations	
  of	
  the	
  following	
  components	
  to	
  make	
  5	
  correct	
  academic	
  reporting	
  sentences.	
  Use	
  ALL	
  FIVE	
  of	
  
the	
  ideas	
  and	
  ALL	
  FIVE	
  of	
  the	
  reporting	
  verbs.	
  	
  

Owner	
  of	
  original	
  idea	
  
/	
  fact	
  

Reporting	
  
verb	
   Idea	
  

Some	
  critics	
  	
  
	
  
Research	
  by	
  the	
  ITU	
  
team	
  (2014)	
  	
  
	
  
Jones	
  (2010)	
  
	
  
The	
  developers	
  
	
  
The	
  CITA	
  scientists	
  	
  

report	
  
	
  

question	
  
	
  

show	
  
	
  

explain	
  
	
  

claim	
  

Is	
  video-­‐conferencing	
  technology	
  safe	
  during	
  cyber-­‐attack?	
  

Criminal	
  gangs	
  pose	
  cyber-­‐security	
  threats	
  to	
  the	
  system.	
  

Potential	
  danger	
  from	
  insufficiently	
  robust	
  security	
  software.	
  

Some	
  governments	
  are	
  totally	
  incapable	
  of	
  securing	
  sensitive	
  
information	
  systems.	
  

The	
  advantages	
  of	
  the	
  Wolf	
  protocol.	
  

	
  
	
  

1. ________________________________________________________	
  

	
  
2. ________________________________________________________	
  

________________________________________________________	
  



	
  	
  	
   Language Awareness - Foundation Exemption, and Level Placement            Registration  

	
  
	
  

3. ________________________________________________________	
  

________________________________________________________	
  

	
  
4. ________________________________________________________	
  

________________________________________________________	
  

	
  
5. ________________________________________________________	
  

	
  
	
  
	
  	
  	
  	
  	
  	
  	
  Section	
  5	
   Questions	
  

Change	
  the	
  following	
  sentences	
  into	
  questions,	
  such	
  that	
  the	
  section	
  in	
  bold	
  is	
  the	
  answer.	
  
	
   Example:	
  The	
  Olympic	
  Games	
  were	
  revived	
  in	
  the	
  late	
  19th	
  century.	
  
	
   	
   	
  	
  	
  	
  	
  When	
  were	
  the	
  Olympic	
  Games	
  revived?	
  
	
  
	
  	
  	
  	
  	
  	
  	
  1.	
  The	
  nuclear	
  reactor	
  at	
  Chernobyl	
  underwent	
  a	
  meltdown.	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ________________________________________________________________________________?	
  
	
  
	
  	
  	
  	
  	
  	
  	
  2.	
  	
  The	
  nuclear	
  reactor	
  at	
  Chernobyl	
  underwent	
  a	
  meltdown.	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
   ________________________________________________________________________________?	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  3.	
  Chernobyl	
  is	
  135	
  km	
  from	
  Kiev.	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
   ________________________________________________________________________________?	
  

	
  
	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   /10	
  


